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RQ Jia has pointed out that this argument is not complete since the possibility that, e.g., t_1<t_2=\cdots=t_k<t_{k+1} (or t_{n-1}<t_n=\cdots=t_{n+k-1}<t_{n+k}) is not excluded by (6) in which case f is only continuous but not differentiable at t_2. In this case, we cannot count on the zero \tau'_1 for f'. On the other hand, we can drop N_{1,k-1} from the formula for f' since it vanishes at \tau'+i, all i>1.
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\tau_{o_\iota} --> \tau_{o_i}
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can be obtained more simply by applying Sylvester's determinant identity to the matrix [1&0,\ldots,0; U(1,\ldots,m;1,\ldots,m+1)] , using U(1,\ldots,m-1;1\ldots,m-1) as the pivot block.
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variational --> variation










